EXERCISES

Why were reforms introduced in India?
Why is it necessary to became a member of WTO?

Why did RBI have to change its role from controller to facilitator of
financial sector in India?

How is RBI controlling the commercial banks?

5. What do you understand by devaluation of rupee?
6. Distinguish between the following

(i) Strategic and Minority sale

(ii) Bilateral and Multi-lateral trade

(iii) Tariff and Non-tariff barriers.
7. Why are tariffs imposed?
8. What is the meaning of quantitative restrictions?

Those public sector undertakings which are making profits

should be privatised. Do you agree with this view? Why?

10. Do you think outsourcing is good for India? Why are developed
countries opposing it?

11. India has certain advantages which makes it a favourite outsourcing
destination. What are these advantages?

12. Do you think the navaratna policy of the government helps in
improving the performance of public sector undertakings in India?
How?

13. What are the major factors responsible for the high growth of the
service sector?

14. Agriculture sector appears to be adversely affected by the reform
process. Why?

15. Why has the industrial sector performed poorly in the reform
period?

16. Discuss economic reforms in India in the light of social justice
and welfare.
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Define a plan.

—
-

2. Why did India opt for planning?

3. Why should plans have goals?

4. What are High Yielding Variety (HYV) seeds?

5. What is marketable surplus?

6. Explain the need and type of land reforms lmplemcnted' :

agriculture sector.

What is Green Revolution? Why was it implemented and how
it benefit the farmers? Explain in brief.

8. Explain ‘growth with equity’ as a planning objective.

9. Does modernisation as a planning objective create contra
in the light of employment generation? Explain.

10. Why was it necessary for a developing country like India to fol
self-reliance as a planning objective?

=J

11. What is sectoral composition of an economy? Is it necessary
the service sector should contribute maximum to GDP o
economy? Comment.

12. Why was public sector given a leading role in indust
development during the planning period?

13. Explain the statement that green revelution enabled
government to procure sufficient food grains to build its st
that could be used during times of shortage.

14. While subsidies encourage farmers to use new technology. they
a huge burden on government finances. Diseuss the us
subsidies in the light of this fact.

#5 Why, despite the implementation of green revolution, 65 per
1 of our population continued to be engaged in theagriculture st

till 19907
16, Though public sector is very essential for imdustries, many p

I{;*;hctor undertakings incur huge losses and are a drain
;\g—pmy's resources. Discuss the usefulness of public

ngs in the light of this fact. -
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Study the following data:

h

(i) | Value of output of

Factor income re:
rest of the io.._a

# (vi) | Factor 58:5

(vii) mcg_nt«,

(a) Primary sector 8,000

(b) Secondary sector 2,000

(c) Tertiary sector 3,000

(ii) | Value of intermediate input purchased by

(a) Primary sector 4,000

(b) Secondary sector 1,000

(c) Tertiary sector 500
Indirect taxes paid E all s 500

800

100






















Calculate Gross
thod on the

me

| e

basis of following data:

Domestic product at Market I’rice through the income method
- 2tNOd and evr

r;:J_.ﬁ._ -
_ : ___.*..._.1....

Particulars
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N Aﬁaﬂﬁuv _

Ii: moaum:mmco: of employees g 900
:; private final consumption ,HJ - Noo
I\r..@qt Net factor income from the rest of the world k (1100
(iv) | Net fixed capital formation q rmoof
(V) R Consumption of fixed capital 200 3
| (vi) | Indirect taxes 1,800 N
“w (vii) | Government current transfers to households 200
.w?_.s Change in stocks 600
(ix) | Mixed income of self-employed 5,600
(x) | Government final consumption expenditure 1,500
(xi) | Subsidies 200 |
(xii) | Exports roooli_
(xiii) | Imports AOUEs | w@.\.l_
(xiv) | Rent, interest and nB:_H ?5 i 1900 |




rrom the following data, calculate ‘national in
come’ by:

) [ncome Method and (b) Expenditure Method

-
'

ﬁ Particulars AT o e
(/) | Net domestic capital formation | «Lm;!:umi
(if) | Interest = B

| (iii) | Rent
(iv) | Private final consumption expenditure 13 000

Government final consumption expenditure

(vi) | Net exports
Net indirect taxes

Net current transfers from the rest of the world

Consumption of fixed capital

Net factor income from abroad

(xi) | Profits
Compensation of employees










From the following data, calculate Nationa] Income b

2y el | : y Income ang Expenditure method,
Bl i i Particulars WSy [ ooy
(i) | Salaries and wages in cash ey i lrrww.,mwm.ih
(i) | Transfer payment by government 509 wr-r AT 8
(iii) | Rent 1,320
(iv) | Indirect taxes 2,000
(v) | Subsidies | 890
(vi) | Compensation of workers in kind | wmmlql
(vi) | Depreciation i 810
(viii) | Net increase in factor income from rest of the world S |
(i) | Interest | o0 |
Government expenditure on goods and services ) T MMwH
_ ?..8:»_ consumption expenditure on goods and services 18,050
Corpe ate profit tax SSCHr SRk =
- the seif employed sl T
) | o 2uted corporate profit poc: ] A aen |
e S | 1 2,010







